
Kennisactivatieraster - Differentiëren 

 

 

 

 

 
Differentieer 𝑦𝑦 = 6(3𝑥𝑥 − 1)4 + 7𝑥𝑥 

 
Gegeven is de formule 𝐾𝐾 = 𝑝𝑝4 − 𝑝𝑝2(𝑝𝑝 − 3)2. 

Bereken 
𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑

 

Gegeven is de formule 

𝐾𝐾 = 10𝑞𝑞2 − 2𝑝𝑝𝑝𝑝 + 4𝑝𝑝3. Bereken 
𝑑𝑑𝑑𝑑
𝑑𝑑𝑞𝑞

 

Bereken de afgeleide van 
𝑔𝑔(𝑥𝑥) = 1

5𝑥𝑥4
+ 3𝑥𝑥3√𝑥𝑥  

 
Differentieer 𝑅𝑅 = 10�3𝑞𝑞5 + 2𝑞𝑞 

 
Bereken de afgeleide van  
𝑁𝑁(𝑡𝑡) = 3𝑡𝑡1,2 − 2𝑡𝑡0,3 

Gegeven is de formule 

𝐾𝐾 = 10𝑞𝑞2 − 2𝑝𝑝𝑝𝑝 + 4𝑝𝑝3. Bereken 
𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑

 

 
Differentieer ℎ(𝑡𝑡) = (5 + 𝑡𝑡)√𝑡𝑡 

Bereken de afgeleide van  

𝐴𝐴 =
3

8 − 2𝑞𝑞4
 

 
Differentieer 

𝑓𝑓(𝑥𝑥) = 0,3𝑥𝑥3 − 1,3𝑥𝑥2 + 6𝑥𝑥 − 6 

 
Bereken de afgeleide van 𝑓𝑓(𝑥𝑥) = 1

𝑥𝑥
+ √𝑥𝑥 

 
Bereken de afgeleide van 

𝑦𝑦 = �𝑥𝑥57 +
4
𝑥𝑥

+
𝑥𝑥
3

 

1 punt 2 punten 3 punten 4 punten 



 

 

Antwoorden 

 

 

 

 
 

 𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑

= 72(3𝑥𝑥 − 1)3 + 7 

 
 

 𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑

= 18𝑝𝑝2 − 18𝑝𝑝 

 
 

 𝑑𝑑𝑑𝑑
𝑑𝑑𝑞𝑞

= 20𝑞𝑞 − 2𝑝𝑝 

 
 

𝑔𝑔′(𝑥𝑥) = − 4
5𝑥𝑥4

+ 10 1
2
𝑥𝑥2√𝑥𝑥  

 
𝑑𝑑𝑅𝑅
𝑑𝑑𝑞𝑞 =

75𝑞𝑞4 + 10
�3𝑞𝑞5 + 2𝑞𝑞

 

 
 

𝑁𝑁′(𝑡𝑡) = 3,6𝑡𝑡0,2 − 0,6𝑡𝑡−0,7 

 
𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑 = −2𝑞𝑞 + 12𝑝𝑝2 

 

ℎ′(𝑡𝑡) =
5

2√𝑡𝑡
+ 1

1
2√𝑡𝑡 

 
𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑 =

24𝑞𝑞3

(8 − 2𝑞𝑞4)2 

 
 

𝑓𝑓′(𝑥𝑥) = 0,9𝑥𝑥2 − 2,6𝑥𝑥 + 6 

 

𝑓𝑓′(𝑥𝑥) = −
1
𝑥𝑥2 +

1
2√𝑥𝑥

 

 
𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑 =

5
7√𝑥𝑥27 −

4
𝑥𝑥2 +

1
3 
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